

**BID2020-64 FURNISH AND DELIVERY OF FULL CIRCLE BANDS, COUPLINGS AND TAPPED OUT SLEEVES FOR A PERIOD OF ONE (1) YEAR FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER BID OPENING
9/15/2020 AT 11:00AM**

BID2020-64 FURNISH AND DELIVERY OF FULL CIRCLE BANDS, COUPLINGS AND TAPPED OUT SLEEVES FOR A PERIOD OF ONE (1) YEAR FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER				
NUMBER OF RESPONDENTS:	4			
NAME OF BIDDER	CAPITOL SUPPLY CONSTRUCTION PRODUCTS, INC	RARITAN GROUP INC.	CORE & MAIN, LP	ATLANTIC PLUMBING SUPPLY
ADDRESS	149 OLD TURNPIKE ROAD	301 MEADOW ROAD	228 WILLIAMSTOWN ROAD	702 JOLINE AVENUE
CITY, STATE, ZIP	WAYNE, NJ 07470	EDISON, NJ 08817	BERLIN, NJ 08009	LONG BRANCH, NJ 07740
CONTACT NAME	HUGH D. MALLEY	MIRO GIETKA	RUSTY MILLER	JEFFREY E. FRALLER
TELEPHONE	973-627-5200	732-985-5000	856-753-5566	732-229-0334
FAX	973-627-1790	732-985-5002	856-753-5455	732-229-7948
E-MAIL	HUGHMALLEY@CAPITOLSUPPLYCONSTRUCTION.COM	MIRO@RARITANGROUP.COM	RUSTY.MILLER@COREANDMAIN.COM	JFRALLER@GOATLANTIC.COM
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A	N/A
NJ BUSINESS REGISTRATION CERTIFICATE OF CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFADAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHIC COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EIC	CERT.#33163 EXP. 11/15/2023	CERT.#39661 EXP. 04/15/2021	CERT.#39386 EXP. 01/15/2022	CERT.#7989 EXP. 05/15/2021
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES
REFERENCES	N/A	N/A	N/A	N/A
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE
GRAND TOTAL FOR ITEMS#1-36	\$44,380.00	\$44,720.00	\$46,866.00	\$51,649.87
FATAL FLAW	NONE	NONE	NONE	NONE

Trenton Water Works
Construction & Maintenance Office

Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	33.80	1014.00
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	81.00	486.00
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	4	108.30	433.20
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	45.50	3412.50
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	86.00	516.00
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	116.70	700.20
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	54.70	1641.00
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	83.40	333.60
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	103.30	413.20
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	148.00	592.00
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	126.20	504.80
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	10	64.00	640.00
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	168.00	336.00
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	2	79.75	159.50
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	123.40	740.40
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	2	311.30	622.60
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	24	45.00	1080.00
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	58.00	2900.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	73.00	3650.00
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	101.00	1010.00
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	18	142.00	2556.00

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:						
Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	250.00	6000.00
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	433.00	1732.00
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	502.00	2008.00
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	685.00	1370.00
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	1167.00	2334.00
27	238-048007-007	4" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	53.00	636.00
28	238-048007-009	4" x 7 1/2" 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	53.00	636.00
29	238-069007-007	6" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	25	55.00	1375.00
30	238-069007-009	6" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	55.00	1100.00
31	238-090507-007	8" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	56.00	1120.00
32	238-090507-009	8" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	6	56.00	336.00
32	238-111007-007	10" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	77.00	308.00
34	238-111007-009	10" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	77.00	308.00
35	239-127512-007	12" x 12-1/2" w 3/4" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	172.00	688.00
36	239-127512-009	12" x 12-1/2" w 1" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	172.00	688.00
Grand Total >>						44380.00

Raritan

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

7

PROPOSAL:

The undersigned proposes to furnished and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	34.00	1,020.00
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	81.00	486.00
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	4	109.00	436.00
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	46.00	3,450.00
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	87.00	522.00
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	118.00	708.00
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	55.00	1,650.00
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	85.00	340.00
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	104.00	416.00
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	149.00	596.00
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	127.00	508.00
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	10	64.00	640.00
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	170.00	340.00
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	2	80.00	160.00
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	124.00	744.00
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	2	314.00	628.00
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	24	45.00	1,080.00
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	58.00	2,900.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	73.00	3,650.00
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	102.00	1,020.00
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	18	144.00	2,592.00

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:						
Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	252.00	6,048.00
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	438.00	1,752.00
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	507.00	2,028.00
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	692.00	1,348.00
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	1,179.00	2,358.00
27	238-048007-007	4" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	53.00	636.00
28	238-048007-009	4" x 7 1/2" 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	53.00	636.00
29	238-069007-007	6" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	25	56.00	1,400.00
30	238-069007-009	6" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	56.00	1,120.00
31	238-090507-007	8" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	56.00	1,120.00
32	238-090507-009	8" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	6	56.00	336.00
32	238-111007-007	10" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	78.00	312.00
34	238-111007-009	10" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	78.00	312.00
35	239-127512-007	12" x 12-1/2" w 3/4" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	174.00	696.00
36	239-127512-009	12" x 12-1/2" w 1" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	174.00	696.00
Grand Total >>						44,720.00

Core and Main

Trenton Water Works

Construction & Maintenance Office

Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

③

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	36.00	1,080.00
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	85.00	510.00
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	4	114.00	456.00
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	48.00	3,600.00
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	91.00	546.00
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	123.00	738.00
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	58.00	1,740.00
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	88.00	352.00
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	109.00	436.00
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	156.00	624.00
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	133.00	532.00
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	10	68.00	680.00
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	177.00	354.00
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	2	84.00	168.00
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	130.00	780.00
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	2	329.00	658.00
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	24	48.00	1,152.00
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	61.00	3,050.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	77.00	3,850.00
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	107.00	1,070.00
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	18	150.00	2,700.00

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:						
Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	264.00	6,336.00
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	457.00	1,828.00
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	530.00	2,120.00
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	722.00	1,444.00
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	1,231.00	2,462.00
27	238-048007-007	4" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	56.00	672.00
28	238-048007-009	4" x 7 1/2" 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	56.00	672.00
29	238-069007-007	6" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	25	58.00	1,450.00
30	238-069007-009	6" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	58.00	1,160.00
31	238-090507-007	8" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	59.00	1,180.00
32	238-090507-009	8" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	6	59.00	354.00
32	238-111007-007	10" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	82.00	328.00
34	238-111007-009	10" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	82.00	328.00
35	239-127512-007	12" x 12-1/2" w 3/4" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	182.00	728.00
36	239-127512-009	12" x 12-1/2" w 1" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	182.00	728.00
Grand Total >>						46,866.00

Atlantic
Plumbing

Trenton Water Works
Construction & Maintenance Office

(4)

Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	44.06	1,321.93
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	87.10	522.60
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	4	116.97	467.88
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	52.00	3,900.27
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	96.65	579.90
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	140.04	840.22
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	62.21	1,866.34
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	99.60	398.39
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	118.70	474.80
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	4	164.44	657.75
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	148.21	592.84
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	10	75.72	757.16
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	198.15	396.29
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	2	85.39	170.79
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	170.78	1,024.66
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	2	340.99	681.98
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	24	48.59	1,166.17
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	62.33	3,116.40
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	78.79	3,939.49
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	109.39	1,093.92
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	18	131.72	2,370.88

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	294.67	7,072.07
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	511.00	2,044.02
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	592.29	2,369.14
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	807.26	1,614.53
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	1,376.22	2,752.44
27	238-048007-007	4" x 7 1/2"w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	65.11	781.26
28	238-048007-009	4" x 7 1/2" 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	65.11	781.26
29	238-069007-007	6" x 7 1/2"w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	25	73.04	1,826.12
30	238-069007-009	6" x 7 1/2"w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	73.04	1,460.89
31	238-090507-007	8" x 7 1/2"w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	83.25	1,665.05
32	238-090507-009	8" x 7 1/2"w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	6	83.25	499.51
32	238-111007-007	10" x 7 1/2"w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	96.76	387.03
34	238-111007-009	10" x 7 1/2"w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	4	96.76	387.03
35	239-127512-007	12" x 12-1/2"w 3/4"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	208.61	834.43
36	239-127512-009	12" x 12-1/2"w 1"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	4	208.61	834.43
Grand Total >>						51,649.87